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NIEfiZ 20 FE | AR | Ba | BRA
1 jeFt B = | + & 298
2 FE BN — % + & 296
2 WA N4 + & 296
4 EBERLT 2 + & 294
4 I RE 3 + & 294
6 AR fE— 2 LI 292
7 IR & NG + & 290
7 ¥ B R 3 i 3 + & 290
9 ¥ BE ING NER 280
10 Al A5 — % N 274
10 BEE EK ING N 274
12 Afx #HE X2 LER 262
13 F./08XK NG NEK 258
14 BAR 2 NG N 254
15 HPBHBA&E =2 N 245
16 KB K IN2 NER 244
17 R %A N3 | #EwE | 239
18 KB RE NG NI 236
19 LI TIPS IN3 = X 223
20 g B ING AR 220
20 TR 2 NG P74 220
22 B2 ¥4 ING AR 212
23 Pk ING 7~ R 211
23 AT R f 1 ~ B 211




25 HE BX ING w2 & 193
26 FE BaX N4 =K 192
27 \WE =4 ING w2 B 190
28 BE R N4 =K 188
29 HIL Bt N5 | HEwfx | 180
30 &k BE ING =K 179
31 KE BN e | E=F | 176
32 2l X— N5 | wEx | 174
32 f=E [EA ING =& 174
34 TE BATE NG | EmEx | 172
34 AR K& | '3 172
36 =H Bt ING =& 171
37 fE ¥E NG 1 i 170
38 BE MR NS | = | 168
39 R BF NG =& 166
39 FEEFEFIAR ING R 166
39 X5 &G NG 1 5 166
42 | ScHTFKER ING /3 165
43 FiE 1540 ING 1 #% 160
43 = Bt ING w2 5K 160
45 faH MR N4 =& 159
46 i BE ING =K 158
47 A ER ma | &gk | 157
48 afd &KX N4 1 #& 155
48 BB = ING =& 155
50 R =i e | &tk | 154




